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QUESTION 1

While attempting to establish connectivity between a Windows client and a UNIX server, the following commands were
issued from the Windows client: CATALOG TCPIP NODE node001 REMOTE hostnm01 SERVER 50000; CATALOG
DATABASE samp001 AS samp001 AT NODE node001; TERMINATE; When trying to connect to the SAMP001
database the following error was received: SQL30061N The database alias or database name name was not found at
the remote node. The database name is not an existing database at the remote database node. The statement cannot
be processed. What should be done resolve the problem?

A. Add a Database Connection Services entry to the /etc/services file on the Windows client.

B. Change the service name (SVCENAME) in the remote servers database configuration.

C. Match the port number in the CATALOG TCPIP NODE command with the port number in the /etc/ services file on the
remote server.

D. Add an entry into the Database Connection Services directory on the Windows client.

Correct Answer: B

QUESTION 2

Your UNIX system administrator has indicated that there appears to be a lot of /O wait time associated
with your database, which is stored in a 7+p RAID array. An investigation reveals the following information:
DB2_PARALLEL_lO=*

Tablespace with ID 7 has a single container and is dedicated to the largest table. It has a page size of 16K,
an extent size of 32, and a prefetch size of 64.

Which setting would optimize 1/O for the largest table?

A. DB2_PARALLEL_IO=7:64

B. DB2_PARALLEL_|0=7:7

C. DB2_PARALLEL_lO=7:16

D. DB2_PARALLEL_I0=7:32

Correct Answer: B

QUESTION 3
Which two operators would indicate inter-partition parallelism in an Optimizer Plan? (Choose two.)
A.LTQ

B. HSJOIN
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E.DTQ

Correct Answer: CE

QUESTION 4

Given a SHEAPTHRES value of 2560, in which two cases willa SHEAPTHRES_SHR value of 1024 be meaningful?
(Choose two.)

A. INTRA_PARALLEL NO

B. MAX_CONNECTIONS 2000, MAX_COORDAGENTS 100
C. MAX_AGENTS 100, MAX_CONNECTIONS 2000

D. MAX_CONNECTIONS 500, MAX_COORDAGENTS 1000
E. INTRA_PARALLEL YES

Correct Answer: BE

QUESTION 5

If your DB2 server is not responding (hung), and you cannot run DB2 commands from the Command Line Processor,
which utility can be used to list the applications currently connected to the database MYDB?

A. db2dart
B. db2apptrk
C. db2acsutil
D. db2pd

Correct Answer: D
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